FEREL /1R AET

K%37I

$40. $50. $63. $80. $100

7.|_\7|7_/A
(k]a]2)- (40|N) (100)- ? ?
bo & o ! !
OL:%= GEEF
[ 6 [NBrE | FIIEECRFERRE | N |1
L |RIZER
@ 1EEhFZN A |ETZRER
| 2 [EwmEanf | B |RBEEMR
c |EluE
@ERE (mm) w o ELR
40 $40 T |TERE
50 $50
63 563 @ R FERIRATESE
80 80 HAZE0 | R ERDRE
100 $100 MA |[MA-1 (AC110V.DC24V)
MB |[MD-1 (DC24V) M
@IEE MC |MD-3 (DC5.6V) = ;ﬁ/Eﬁ
M=z AR (=) MD MR (AC.DC5~110V) @E%Eg
R EEHIU i ME | MA-2L (AC110V) T
H PRy MF | MA-2H (AC220V)
N MAEE MG MT-3 (DC5~30V) MF
F EHEHE (R) MH | MT-3U (DC5~30V) .
MJ  |MT-2 (DC24V) R ERIES
MK | MT-2U (DC24V) b
oFE
FEREIZEFRER ® R FER R =
HAZED | ERUERRS
2 HRERRS
1 B R FERHRE
(O] i
HAZEC | RS
Y | YHiEER
I | FZ#z88
ﬁU ,J-fe;
r“lqu‘“ (mm) $40 $50 $63 $80 $100
IESIE K40-L K50-L K63-L K80-L | K100-L
RHER K40-A | K50-A | K63-A K80-A | K100-A
B IR K40-C K50-C K63-C K80-C | K100-C
LR K40-W | K50-W | K63-W | K80-W | K100-W
THERE K40-T K50-T K63-T K80-T | K100-T
R HE BERAE 2R D EAL
BRI M2 Rk FEBH A BEAE ESE !
(mm) BiEh HIREL (mm) T
$40 $40 K40-PS
$50 K40-MJ | K40-MTJ $50 K50-PS
$63 $63 K63-PS
980 | kgo-MJ | K8O-MTJ 980 K80-PS
$100 $100 K100-PS

D3 @ FONTAL



wBEL /1ZEH K RS
$40. $50. $63. ¢80, 100

Mg

1EENHZZC B BEI

A REE HASIH/AEIRZER

B AHEE MPa (kgf/cm?) 0.05~1(0.51~10.2)

T EEEE T 5~60

TAEREEE mm/s 50~500

HE1E IZAELEE

JHERETE mm ~250%}°  251~1000"*
ZAEFZ ~ BIZEFE ~ BIZEEMR

EEFN S RREEEMN ~ BB ~ 1L
~THERE

F) BEEEEEERREESEEANR/)VESAE0.1MPa {1.0kgf/cm2}
BEEEEREEE LI MR/ NE S /50.05MPa{0.51kgf/cm2} ©

= 1ZEEEE (i : mm)
JIS ¥F5 B B B o 121 1E
_E] $40 600
$50
HENF 263 50.75.100.150.200.250 800 =
480 300.350.400.450.500 ,
BT AR(E - TEEASIE 2100 100 >
f{E @ A @ EEEH ARPVEBEZE )]
FiBARIEN o A TIIAXERSIA )
FREAL e @&z (882 : mm) 3.
,;% 2 Y(MP_a) = X(kgf/cm?) X 9.80665 X 107 5 P s g
£ Y(N)=X(kgf) X 9.80665
$40
$50 16
$63
$80
$100 20
b ) (& ka)
ENE | mansm {ERAEE 7] (kgt / cm?)
(mm) 1 2 3 4 5 6 7 8 9 10
440 HH &y 12 25 37 50 62 75 87 | 100 | 113 | 125
A B 10 21 31 42 52 63 73 84 95 | 105
450 HH &l 19 39 58 78 98 | 117 | 137 | 157 | 176 | 196
N 16 32 49 65 82 98 | 115 | 131 | 148 | 164
463 HH Eify 31 62 93 | 124 | 155 | 187 | 218 | 249 | 280 | 311
A B 28 56 84 | 112 | 140 | 168 | 196 | 224 | 252 | 280
480 HH dity 50 100 | 150 | 201 | 251 | 301 | 351 | 402 | 452 | 502
N 45 90 | 136 | 181 | 226 | 272 | 317 | 362 | 408 | 432
100 HH Eify 78 157 | 235 | 314 | 392 | 471 | 549 | 628 | 706 | 785
N 7 142 | 214 | 285 | 357 | 428 | 500 | 571 | 643 | 714

1) BRI =125t 71X0.85

@ FONTAL D4



®EEL/ K %5

Aot

& T8 EER | BIZER |RTR SRR 28R BEILfZ | #ILUFE (TR A
gy |TIRES o o o o o o o
ST |#LE T e - | -1 -] ol -
- \8i5::E O o) O O O o) O
o [z o o o o o o o
REIES (&4 9) )
- 24 B 8B (0fE12) EorER SR
= o j . ) Z1mm (f5l)  KG2-50-100-L
(mm) | AEERZ | RO | REEAR | B | #1ILFE TRBA % 22 BB i 1.16kg
¢40 0.66 0.84 0.82 0.92 0.91 1.27 0.0035 gﬁ_gbii ............... 0'0046/T§!$§
$50 0.94 1.16 1.20 1.29 1.36 1.74 0.0046 BAZ o 100/485%2
$63 1.24 1.54 1.57 1.89 1.95 2.10 0.0051 1.16+0.0046 < 100=1.62kg
¢80 2.34 2.85 2.96 3.75 3.88 4.57 0.0082
$100 3.09 3.72 3.94 5.14 5.32 6.27 0.0104

RUFERARARZ X
M B 1% 2h R FE AR

7

M F 1% 25 RUFE R A

- &

RIgH RIFEH
w os | SEEER | BEE T REE [fENE 7y o YT B |SEEEREE [fETIE
B 5 V) (mA) sanm)| & B 5 ) (mA) @am)| &
AC110 5~45 HpEoe MT-2 DC24 HpEoe
MA-1 5~100 O
DC24 5~45 O PLC MT-2U | (DC10~30) PLC
MD- | DC24 25~65 BES MT-3 BT
o GEER) O [#E®Bas ey | DE 5~200 O |pic .
MD-3 DC5.6 maron A O |lIicER - IClE]Eg
max.300 (PR & &)
AC max50 (RUMEEH)| m |BE=R
MR 5~110 P
DC max.300 (FRIE B &) | $E7IE |PLC
MA-2L AC110 5~150 O |#EE=s
MA-2H AC220 5~150 O |HES

JE) MA-2LEAMA-148[E » TRIZ R{EAMA-2L
Z IR HIIRIRUTSS-2L o
MA-2HEIMA-13E[R] » TRIZ EEEMA-2L
ZIRHIRRIRUISS-2H ©

D5

@ FONTAL



MR FERRA (R &742

®EEL/ K %5

(B8 : mm)
s P TEREZS TERE
R FERIRA L FEBIRE 25 FERS Y R FERIRA
(F—z=mLt) (FRIFEXAEL) bt (Bl—%=m@ELt)
$40 75
$50
85
$63 10 10 5
$80 95
$100 100
ERBETAL  BEARSNERF
BT (mm) ANAERR A 7S BERHh
M8 X 1.25 M8X1.25
40, $50. 363 | 4\ i e
? ? ’ ijgﬁg 1 8mm ;ﬁ%ﬁ}% I 6mm
M10X1.5 M10X1.5
$80. $100 o re?
YHEEE 1 10mm | HH2EE 1 8mm

@ FONTAL

A
>
w
0)
m
®
)

D6



®EEL/ KR 5
it

® QO (D\ ® @ O ® © T ® CT ®
L — ; , 4107 D e
I e
[ v 1 = : ,@7$
1 \ i
T ‘ == G ©
E= ~ Ot | 19
@é ® 6 o
ELLEES
3% 1 % 18 5% 15 % 18
® I ® EEBH
@ s MR
® s\ ® UE
@ B> St
® EEA ® %7
® EEB BAARE
@ st EEEst
BHER @ EEHTIRE
® VE Do) @ 1R EIES
1R R @ AR
® T eYES] ® WA
@ BRF

M HITR

ERRR @JEEHH OF 6 p:ES)] WL IOV OEZH @EMZR | @EERIHH

(mm) B BE| Bk BE| B 2| 35 2| 35 2 % HE
$40 PSD-40 1 CP-18 2 PDU-16 1 KG40 2 IN-11.2 1 P3 2
$50 PSD-50 1 CP-24 2 PDU-20 1 KG50 2 P12 1 P3 2
$63 PSD-63 1 CP-24 2 PDU-20 1 KG63 2 P12 1 P3 2
$80 PSD-80 1 CP-30 2 PDU-25 1 KG80 2 P16 1 P3 2
$100 PSD-100 | 1 CP-35 2 PDU-30 1 KG100 2 P20 1 P3 2

X)) ML ERIHEE ] 530S

D7 @ FONTAL



>k

®EEL/ K %5

AR R~F

ZER/N (B8 : mm)
K M+ 18 2 5
H V E E max.9
G J| L 2-P L
N V4E Y4E
—\ -—-1‘/ l,.._—
f r
J N— wi—@ 11 {
4D gR 5 ¢D
1
M— i
TEHEEE)
C+ & 72
BRE | A B c D E F G H J K L M N B R T vV | w
$40 60 | 41 [135 | 30 | 25 | M8 | 27 | 30 | 12 |51 17 | 84 [M14X15|/Rcla | 16 | 14 7] 715
$50 68 | 48 [1465| 36 | 26 | M8 | 32 | 35 | 13 | 575 | 18 | 89 |MI8X15|Rc3% | 20 | 17 7 | 65
$63 78 | 58 [1535| 36 | 26 | M8 | 32 | 35 | 13 | 60.5| 18 | 93 [MI8X15|Rc3% | 20 | 17 8 | o
$80 96 | 72 [184 | 42 | 32 [Mmi0| 36 | 40 | 16 | 74 24 | 110 [M22X15| R4 | 25 | 22 | 13 | 0
$100 | 110 | 86 |191 | 48 | 32 | M10| 36 | 40 | 18 | 79 24 | 112 [M26X15/Rc?s | 30 | 27 | 13 | 0
V4
RIZRAZ/L (i mm) - R
C+1E #2 5 ()
K M+ 18 72 i
H V E E max.9  °A )
N G J[L ] 2-p L °B F »
x VE| 1 V5E /-
i [ §\<
| | © 1©
et e W 7 ¢yD . ¥
D
4, T | g
m| 4-gLd Le S lZ
L N N7
TeEER) k Lty an
f
Lk| Lf Lf |Lk Lc
Ls Lg+?§i *EE}'E Lu
Li+ & 72
BARE| A B c D E F G H J K L M N P R T v w
$40 60 | 41 [135 | 30 | 25 [ M8 | 27 | 30 | 12 |51 17 | 84 |M14X15|Rcla | 16 | 14 7 | 75
$50 68 | 48 [1465| 36 | 26 | M8 | 32 | 35 | 13 | 575 18 | 89 [M18X15/Rc3% | 20 | 17 7 | 65
$63 78 | 58 [1535] 36 | 26 | M8 | 32 | 35 | 13 | 605 18 | 93 [MI8X15|Rc% | 20 | 17 8 | o
$80 9 | 72 [184 | 42 | 32 [Mmi0| 36 | 40 | 16 | 74 24 | 110 [M22X15| R4 | 25 | 22 | 13 | 0
$100 | 110 | 86 |191 | 48 | 32 [ Mi0| 36 | 40 | 18 | 79 24 | 112 [M26X15/Rc¥s | 30 | 27 | 13 | 0

BT | L Ld Le Lf Lg Li Lk Ls Lt Lu
$40 42 9 40 | 27 138 | 162 | 12 24 3.2 60
$50 50 9 45 | 275 | 144 | 169 | 125 | 30 3.2 68
$63 59 | 115 | 50 | 365 | 166 | 193 | 135 | 24 3.2 78
$80 76 | 135 | 65 | 47 204 | 238 | 17 21 4 100

$100 92 | 135 | 75 | 50 212 | 246 | 17 29 4 116

@ FONTAL D8



®EEL/ K %5

AR R~F

BIRENR /A ({5 : mm)
C+1E #2 5
K M+ & 2
H \' E E max.9 °A
N G J| L 2-P L °B F
14 | H
' ! a @mﬂ—nﬁ&@
i RSN
[ f ) w ] *ﬂﬁf: —
#D 4R =) #D Fe Fc =1
| ) _J \ —\L -
— SO
TEEERE) j N 5
Fg___” 4-¢Fd Fa
Ff |Ft Fb
BERE | A B [ D E F G H J K L M N p R T Vv w
$40 60 | 41 [135 | 30 | 25 [m8 | 27 | 30 | 12 |51 17 84 [M14x15|RcY4| 16 | 14 71715
$50 68 | 48 [1465] 36 | 26 | M8 | 32 | 35 | 13 [ 575 18 89 [M18x15/ Rc3%| 20 | 17 7| 65
$63 78 | 58 |1535| 36 | 26 | M8 | 32 | 35 | 13 | 605 | 18 93 [M18x15| R34 | 20 | 17 8 | 0
$80 96 | 72 [184 | 42 | 32 [ mi0| 36 | 40 | 16 | 74 24 | 110 [M22x15|Rcls| 25 | 22 | 13 | 0
100 | 110 | 86 [191 | 48 | 32 [ Mi10| 36 | 40 | 18 | 79 24 | 112 [M26x15|Rcls| 30 | 27 | 13 | 0
“WNF& ] Fa | Fb | Fc | Fd | Fe | Ff | Fg | Ft
$40 80 | 100 | 42 | 9 70| 39 | 23 [ 12
$50 90 [ 110 | 50 | 9 80 | 45 | 3.2 | 125
#63 | 105|130 | 59 | 115 92| 43 | 32 | 175
#80 | 130 | 160 | 76 | 135 | 114 | 53 | 4 | 21
100 | 150 | 180 | 92 [ 135| 130 | 54 | 4 25
BN /B (E{& : mm)
C+1& 2
K M+1E 2
H V E E
G JiL 2-P L
1 1
N Y5E 2E
N 7.
¢L¢lR | \w W ?ﬂ_:1/
| & 5
TEHHEERE) |
Fg
Ft
Fh+1& 72
BEARE| A B c D E F G H J K L M N P R T v w
$40 60 | 41 [135 | 30 | 25 [m8 | 27 | 30 | 12 | 51 17 84 [M14x15/Rcla| 16 | 14 71715
$50 68 | 48 [1465| 36 | 26 | M8 | 32 | 35 | 13 | 575 18 89 [M18x15/ R34 | 20 | 17 7165
$63 78 | 58 [1535] 36 | 26 | M8 | 32 | 35 | 13 | 605 | 18 93 [M18x15| Rc3% | 20 | 17 8 | 0
$80 96 | 72 [184 | 42 | 32 [mi0| 36 | 40 | 16 | 74 24 | 110 [M22x15|Rcls| 25 | 22 | 13 | 0
$#100 | 110 | 86 | 191 48 | 32 [ M10| 36 | 40 | 18 |79 24 | 112 [M26x15|Res| 30 | 27 | 13 | 0
ZEATE| Fa | Fb [ Fc | Fd | Fe [ Fg [ Fh | Ft
$40 80 | 100 | 42 | 9 70 | 23 | 147 | 12
#50 90 [ 110 | 50 | 9 80 | 3.2 | 159 | 125
#63 | 105 | 130 | 59 [ 115 92| 32 | 171 [ 175
#80 | 130 | 160 | 76 | 135 | 114 | 4 205 | 21
$#100 | 150 | 180 | 92 | 135 130 | 4 216 | 25
D9 @ FONTAL




REREL /K 251
9_|d: E: IS
kR~
Bl /C (847 : mm)
C+7& 72
K M+ 72
H V E E max.9 °A
G JL | 2p L | °B F
N VE| v 4E /-
g = H10
N ! | 2L 5 5
W
—_Y & :T X {ij/ \%{
#DeR X - _\
l ! RCf f) f>
THEEE) S =
.Ce.| .Ca| =63
Cc
Cb+ &7 72
BAKL| A B c D E F G H J K L M N P R T v w
$40 60 | 41 [135 | 30 | 25 | M8 | 27 | 30 | 12 | 51 17 84 |M14X15|/Rcla| 16 | 14 71715
$50 68 | 48 |1465| 36 | 26 | M8 | 32 | 35 | 13 | 575 | 18 89 |M18x15| Rc3% | 20 | 17 7] 65
$63 78 | 58 [1535| 36 | 26 | m8 | 32 | 35 | 13 [ 605 | 18 93 [M18X1.5{Rc3% | 20 | 17 8 | 0
$80 9 | 72 [184 | 42 | 32 [ M10| 36 | 40 | 16 | 74 24 | 110 [M22x15/Rela| 25 | 22 | 13 | 0
$100 110 | 86 |191 48 | 32 | mio| 36 | 40 | 18 | 79 24 | 112 |M26Xx15/Rels| 30 | 27 | 13 | ©
W€ | Ca | Cc | Cd | Ce | Cf | Cb
#40 |15 | 30 10 | 16 | 10 | 165
$50 |18 |355| 12 | 19 | 12 | 182 PN
63 |25 [425] 16 | 23 | 16 | 196 ’
#80 | 31.5 | 51 20 | 28 | 20 | 235 >
$#100 | 355 | 65 25 | 36 | 25 | 256 o0
/2 /W (Bf : mm) G
=
c+iE 2 (T)
K M+ 52 n
H V E E max.9 °A
G JI L 2-P L °B F
N VE| EE,
_\ {/ i ¢CdH10 ( Jr
' @ | N @j/\ N
¢TD ¢‘R W _ f%\ il( \_‘
L p VIR
F7/ RCf ﬂ?\ \/é@
TR LI
Cc Cg-92
Cb+1& 72
BEAK| A B c D E F G H J K L M N P R T v w
$40 60 | 41 [135 | 30 | 25 | M8 | 27 | 30 | 12 | 51 17 84 |M14x15|Rck4 | 16 | 14 7] 75
$50 68 | 48 |1465| 36 | 26 | M8 | 32 | 35 | 13 | 575 18 89 [M18x15| Rc¥% | 20 | 17 7 | 65
$63 78 | 58 [1535| 36 | 26 | M8 | 32 | 35 | 13 | 605 | 18 93 |M18X1.5{Rc¥% | 20 | 17 8 |0
$80 9 | 72 |184 | 42 | 32 | M10| 36 | 40 | 16 | 74 24 | 110 [M22x15|Rcls| 25 | 22 | 13 | 0
$100 110 | 86 |191 48 | 32 | Mi10| 36 | 40 | 18 | 79 24 | 112 [M26X15/Rcla| 30 | 27 | 13 | O

BHARIE| Ca | Cc | Cd | Ce | Cf | Cg | Cb
#40 |15 | 30 10 [ 16 | 10 |30 165
#50 |18 | 355 | 12 | 19 | 12 | 355 | 182
#63 |25 |425| 16 | 23 | 16 | 50 196
#80 | 315 | 51 20 | 28 | 20 |63 | 235

$#100 | 35.5 | 65 25 | 3 | 25 | 71 256

@ FONTAL D10



®EEL/ K %5

AR RF

TERE /T (84 - mm)
C+1& 2 5
K M+ & 2
H V E E max.9 A
G JI L 2-P L °B 1TF
Al (4]

i~
|

A
)
2/
=
-
A 1A
&
@
—

—
i > l pTe| iR 5:
NEE
TEHEEE : '
T “Ta
Tet+ s fE 72 Tb \
Tc |
BAKL| A B [ D E F G H J K L M N p R T v w
$40 60 | 41 [135 | 30 | 25 [ M8 | 27 | 30 | 12 | 51 17 84 [M14x15|Rcla| 16 | 14 71715
$50 68 | 48 |1465| 36 | 26 | M8 | 32 | 35 | 13 [ 575 18 89 [M18x15/ Rc36| 20 | 17 7] 65
$63 78 | 58 [1535] 36 | 26 | M8 | 32 | 35 | 13 [ 605 18 93 [M18x15[Rc3%| 20 | 17 8 | 0
$80 96 | 72 |184 | 42 | 32 [ Mi0] 36 | 40 | 16 | 74 24 | 110 [M22x15|/Rcl%| 25 | 22 | 13 | 0
$100 | 110 | 86 |191 48 | 32 [ Mi0| 36 | 40 | 18 | 79 24 | 112 [M26x15|Rcls| 30 | 27 | 13 | 0
BAKE | Ta Tb Tc Td Te Tf
$40 64 | 85 | 125 | 15 93 | 28
#50 76 | 95| 135 | 15 | 102 | 28
$63 92 | 110 | 160 | 18 | 107 | 30
$80 112 | 140 | 200 | 25 | 129 | 40
$#100 | 136 | 162 | 222 | 25 | 135 | 45
FEERRAR &R E
MR FER A ({5 : mm)

P A &k FE B9 RA E
B C

v e MIEGEE: | 2
$50 7 3 37 MHAZEEIZEL | 26.5(24)
963 9 15 42 i) HEIARRSTMT-* U
$80 11.5 17.5 51

#100 12.5 18.5 59

D11 @ FONTAL



[RGs

¥ [B

/K 2%l

Y FCHREE
C
pd'1% [e a m
Le  _a
Ew pRvARy (Efiz : mm)
f10:3 #b 1J o 55 O 4R
TN | SR |FRERE| a | b | c|d|e | f]|& m r
L K40-Y $40 22 | 28 | 55 | 12 | 20 | 16 | 44 | M14X15 | 14
9 K50-Y $50. 63 | 27 | 30 | 60 | 12 | 20 | 16 | 44 | M18X15 | 15
\\Qj K80-Y $80 37| 40 | 71 | 18 | 26 | 28 | 60 | M22X1.5 | 20
K 100-Y $100 37 | 44 | 83 | 20 | 28 | 30 | 60 | M26x 15 | 22
| 23258
Cc
pd"1° e a m
F_a 2
i ] (B87 : mm)
-------- i Bl gk [EREAE] a b |cld[elt] m [
K40-1 $40 22 28 55 12 20 16 | M14X15 14
N N K50- | $50.¢63 | 27 | 30 | 60 | 12 | 20 | 16 | M18X15 | 15
\Q/ K80- | $80 37 | 40 | 71| 18 | 26 | 28 | M22X15 | 20
K100-1 $100 37 | 44 | 83 | 20 | 28 | 30 | M26X 1.5 | 22 =
/
8D Y B8 >
m\
L (& iz : mm) 3.
o BV Sk [EAEAMA] 0 [ L[ a]t[m]| « 058 0
¢ K40-YP | 440, ¢50. ¢63| 12 | 52 | 11.5|44.2|2.75|1.15| C12
#d K80-YP 80 18 | 68 |17 |60.2|255[1.35| C18
K100-YP $100 20 | 74 |19 |66.2|255]135| cC20
%\ L E 5
(&4 : mm)
Al gk |FRAEAE| D[ L |d ]| m |t | IR
t L t
N Ve K40-WP $40 10 [365| 96[302| 2 [1.15] CI0
— 140% K50-WP $50 12 |42 |115[357] 2 [1.15] Ci2
K63-WP $63 16 | 56.5|152|502| 2 [1.15] Cl6
¢d K80-WP $80 20 |70 |19 |632| 2 [135 cC20
K 100-WP $100 25 |78 |239|7T.2| 2 [135] C25
=L [~]
E[LEAS:
(841 : mm)
B B |FRERK H|B|]C|D
J40-RN $40 M14x15 | 8 | 22 | 254 21
1 4D K50-RN | ¢50.463 | M18x15 | 11 | 27 |31.2| 26
- . H*’J K80-RN $80 M22x15 | 13 | 32 |37 | 31
- K 100-RN $100 M26X15 | 16 | 41 |47.3| 39
) BEARL40mmA]ERJ R TIHE A
@ FONTAL D12



